IR REDIEIIGE
ASAGGRD Ceffelr Sfe =1 || 2fe T8O (18-05-2024) 2039-3038
fqo3: 979 favg @

A : 60 wifed : 18-05-2024 T4 : 60
1. Gf6a ALl i° + i + 1 9F FFag© w7 (Simplified form of the complex number i*+ i + 1 is) @
® 1+2i 1-2i © 1+i © 1-i
2. -1 + in3 @q WSEFS, (The argument of -1 + f\ﬁ is) ©
T 3x 2% i

® ® = @z ®:
3.sin0-2 = cos20, -x<0= 7 gq N4 (The solution of sinf-2 = cos 26, -7 =0 =< wis) @
® - ® 3 © 3 ®

4, (-2,3) T &tF x2 + y? = 5 1S GEFS HEF AF (The length from the point (-2,3) to the circle x? + y? = @
5 is)

® 9 1 © 3 ® 8
dy y dy
5. = tan 1y LG 5 ? (Ify = tan Ly then Fln ?)
1 |
=) ; = © 1-x* ® 1+x?
1-x Jeins

6. 3x + 4y = 12 Faera2i wrFatEd Ane @) fags Ty F0F ©F (FaFA (The area of the triangle formed by ©
the line 3x + 4y = 12 with the coordinate axes is)

® 12 ® 24 © ¢ © 4

7. X% + 9% + k = 0 TRFAADT @ TA Wo@AGA faedt TA k 97 T (If one root of the equation x> + 9x + k=0 ©
is twice than the other, then the value of k is)

@ -18 9 © -9 © 18
8. = @ WBTEE a9 2 % 3 @92 B GG OFE 3 X 4 2%, O AB WIGEE e (If Aisa 2 * 3

matrix and B is a 3 * 4 matrix, then the size of the matrix AB is

® 4 x 2 ® 2 x4 © 3 %3 ® 3 x4
9. y? = 12x *Aed fAeIea a9 (The equation of the directrix of the parabola y* = 12x is )

® x=3 ® x=-3 ©y=3 @®y=-3
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10. \Ea AL 8 (0,0) FH|EA*E qCeq (AT FTEA9 (The polar equation of a circle having radius \50 and @
centre (0,0) is)

® r = \2a ® \2r = a ©r-2a ® r = 2\a
T 3 8n Or

11. ::052; e coszﬁ + c0527 R CGSEE =17 ©

® 0 1 © 2 ® 3

12. <0 TESANE WGZW s(t) = 2t7 - 52 - 3t E, t = 2 AN IGSAE §A9 (If s(t) = 27 - 5t% - 3t is the position ©

of a particle, then its acceleration at t = 2 is)

@ 34 ® 10 © 14 ® 20

13. 3N @ 4N W74 720 99 (& ﬁ*qc.\-.: TSI @ F903 oiad d@ (If two forces of magnitudes 3 N and 4
N act at a point perpendicular to each other, then their resultant force is)

® 2N ® 5N © 6N ©® 12 N

14. jl"_ﬁch _H
e

2 1

@& 2e ® 2(e - 1) ©§'1 ®1-5

15. 2y® - x* = 1 T4 BF@Fe! (The eccentricity of the conic 2y” - x* = 1 is)

3
@\E ® \3 ©

] W
©
[ %]

® -2i ® 2i © -2 ® 2

17. (-1 - \5) AF (A= ZEIE (The polar coordinates of (-1 - \5) is) @

@(2.?) (1%) ©(3..

18. 1 \3 ©

= — T80
sin 10°  cosl0®

® 2 ® 3 © 4 ® 2

2 A

e
®
I
=
p—
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® \1-22+ C @® -\1-+*+ C ©W+C ® T=t¢

20. (@ ARG y-2rF @i @2 (Which equation represents the y-axis?)

®y=x ® x=0 ©y=0 ® x=)7

21. 429 @4 9 7 1 A B 1 s BE FA0E TeoE SiemE F[ATE F0F Fop A siem@ 0° C @&rE ©
100° C ¢ (era?

® 1kg ® 10¢g © 100 g ®o01g

27, @S (FITTa Sfee BF 951 2 V| OTS T4 1A SfEe #difEe 70 v @7 fawe Adey | v T @iE woedd (B
(A4 T9? (Electromotive force of a cell is 2 V. When 1 A current flows, its voltage drops to 1 V.

Calculate its internal resistance.)

® 10 ® 20 © 050 ® 0.25 Q

Do d =63 -3) +2k aw Fo2i+2j+ b wmww 4. BRdawn (rd =67 -3) +2kand O
B=2i+2j+k . then determine 4 . B)

® o 4 © 8 © -4

24, (@ 51%F @FF? (Which one of the following is the unit of torque?)

® Dyne/cm N-m © N/m ® N/m-s

25. (FWD Fad AEAEE @ETSEg AAea9? (Which of the following is the equation of time period of a @

simple pendulum?)

L L
T = 27|~ T = 4z4|- F=23
® "f\/; ”\g ©°

26. ATEF TS AAfga<rea 2AtF S 902 (What is called the rate of change of impulse of force?)

b~ g
l-.g
||
=
ﬁ

® =95 (momentum) 74 (force) © 99 (acceleration) © @ (velocity)

27. STFE B =WiEd (FE (@0 ¢ $9¢ 9 F1F &FWiod 2472 (In simple harmonic motion the velocity and ©

acceleration depends on-)

®) &4 (mass) A99 (displacement) © =MWl (initial phase) (@ =4ata7 (momentum)

28. el SI7ISI € BIL7 Gl T TG 1/3 GFF | A 5% P GHF T AYEAT g qiacera aofy w2 (B
(Density of a gas at standard temperature and pressure is 1/3 unit. If the standard pressure is P unit,
calculate the root-mean-square velocity of the molecules.)

® 3\p ® 3p © \3r ® 3
29, @ oS d (O, ATFHE T T $TP WOFAS G TAF 1/n & TW O AL (940 R = 4T 1)
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(The depth d, at which the value of acceleration due to gravity becomes 1/n times the value of it at the
surface of the earth is (R-radius of the earth))

® R/n Rln-1)/n © R/n* ® Rn /n ( n+1)
30. ¥% O e @ ote A 57 A2 (Which physical quantity remains constant during adiabatic  (©)
process?)
®) S% 9@l (Temperature) 5% (Pressure) © =T=q (Volume) © 978 (Entropy)
31. A (@A v 3em TS @I wiel st @ 27 orE 3fenae wwel 9 203? (What will be the efficiency of a ©
heat engine, if it does not emit any heat?)
® 0% 50% © 75% ® 100%

32. 71 BTN UfC T© WS SE GG 7 EwE Iz O WEE 2@ T oTnz A WA A2 (How fast (@)
should a moving clock travel if it is to be observed by a stationary observer as running at one-half of
its normal rate?)

® 0.50¢ 0.65¢ © 0.78¢ ®© 0.87c

33. Ff6 OIFF 2JIF &% A | W offe «FF aFera ¥IfE £ 27| ©1F g T3- (The Young's modulus of a
wire is Y. If the energy per unit volume is E, then the strain will be-)

® \2E/Y ErY © \E/(2Y) © zE/Y

34. m SEH OB TEE TP (F h = R SHO o e draeay e sAfae (@ R = & aed) we
(A body of mass m has to be taken from the surface of the earth to a height h = R, where, R = radius of
the earth. The amount of energy needed is-)

® mgR mgR /2 © mgR/3 © 2mgR
35, g @ p—ﬁﬁ?{ wfTaR2Ts n b2e 9T AN @™ 9g? (Which of the following does a p- @

type semiconductor have more compared to an n-type semiconductor-)

@ G 499F A4 (total positive charge) (0 <4 (total charge) (© 2WFFIA g (density of electrons)
© = 9% (density of holes)

36. (6 7-Sgw wfeAla @ae erere e Twem T 30cm 92 JITE efeT=E 1.50 | FEGE G

9 204? (The radius of curvatures of both surfaces of a double convex lens are 30cm each and
refractive index of glass is 1.50. What will be focal length of the lens?)

® 15 cm ® 30 cm © 45 cm ® 60 cm
37. 2UF @R 1mu*F 4RI @4 FETsE (FE gl €19Y 97 (A 2mu*F and a 1mu*F capacitor is ©
connected in series. What will be the equivalent capacitance?)
1 2 3
® 3 uF JHF © 3 O] SuF
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38. 9« AfIGIE SR 2975 @ WE67s Hemtaa w4 Wl 214 ¥97 (The phase difference between ©

input and output signal of a common emitter amplifier is-)

® o° 90° © 180° ® 270°

39, =5 5ol Wel BN, ol FEAR A TU FOA AT Fed | 1 T4 FTAE @ A
e AR AN AT T =W, A Y FEE IR (N9 FSATS- (In a step up transformer, the
number of turns in the secondary coil is twice to that of primary coil. If you apply an alternating

current in the primary coil, then in the secondary coil compared to the primary coil-)

®) sfee 2qezd 9 e 203 (current will be doubled) e @3Ed JF 94F 209 (current will be halved)
© =fte faeraa W WdE 273 (voltage will be halved)
@) sfer @4qrzd W N AFE (Current will remain the same)

40. TIEE sfee feam oea @ Fensla S TafEa 292 (Which of the following particles interact in the @
photoelectric effect?)

@ TTEEA @ a5+ (Neutron and proton) TS0 € TEFA (Neutrino and electron)
© (215 @ 377g4 (Proton and electron) © 57 @ 2737 (Photon and electron)
41. y = 3X Xx-O%F 9 x = 2 4 SNes (a9 (Fawe (The area of the region enclosed by y = 3x x-axis and x ©
= 2 is)
® 2 4 © ¢ ®© 8
4. VI+x-T-x @
lim =7
x—0
® 1 2 © 3 ® -1
43. e 2 6 X = 2 6 @
[ 5 . 3] 930 Ffeadl WiGE o3 x99 AR (If [ > v.3 ] is a singular matrix, then the
values of x are)
® 2,3 2,-6 © 2,-3 © -16
44, 1% (x, y), (p,q) 932 ﬂfwﬁ? AACEY 24, 9 (If (%, y) (p,q) and the origin are collinear, then)
® px = qy ® gx = py © xy = pq ® gqx+py=0
45. 8§ -5 8 <57 @
A=[_6 4]17{?1”A"=?(1f-~1= 6 4 |thenA™1=2)
5 5 5 7
2 = 2 -2 g
® 2 2 © 2 © | s
3 4 i A 3 2 3 4
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46. y + 2X = 0 938 2y = x ALENAAREAS TGS (F19 (The angle between the lines y + 2x = 0 and 2y = X is ) @

®

SN

® o © ; © 5

47. (1,1) =0 x% + y? + 8x - ¢ = 0 J0SF &7 WAFS 2 ¢ = (If the point (1,1) lies on the circle x* + y* + 8x - ®
¢ = 0 then ¢ =?)

® 10 ® -10 © 20 ® 1

4 4 3 3

Of- : © 3 @ ;
49, x2 +_v3 + B —dy-0'=( 75 b7 (¥ (The centre of the circle x2 + .‘--’2 +8x -4y -5 =0 js) @
® (-4,2) (4,-2) © (2,-1) ® (4,2)

, Lo ,
20 3x2 . Sx + | = 0 FR=75a 7w « 34 707, o T 7 & T (if the roots of the equation 3x”-3x+1=0 ©

l 1
are aand 8, then the value of piu 7 is

| e
Ln| o

® 2 ® CE @®

51. tany~ lx+cot-lx=12 @

® 5 ®

© 1 ® o

52. 916 TESA fFogl (ATF 24UV CHCE 18 m Y Hfoww A= «F 949 (If a particle covers a distance of ©
18 m in the first second starting from rest, then its acceleration is)

2l

® 8ms ™= 12 ms~2 © 36 ms™? © 42 ms2

53. a6 @I 32 ft/s WAt @2 ch-’ﬁ HARY 30 deg (FTCA WFe A 329 S99 (The traveling time of a @
particle that is thrown with an initial velocity 32 ft/s making an angle 30 deg with the ground is)

@ 1s 1.5s © 2s ® 3s
54. xy = 1 FAEgefs e 03 @Ff6 (The equation xy = 1 represents a) ©
@) T8 (circle) g€ (parabola) © =f4¥3E (hyperbola) © T=F8 (ellipse)
55. X +y = 2 938 y X = 0 HAeWALTaEA (TREola € x -S0Ha FSAE (G417 FAea9 (The equation of the ©
straight line parallel to the x-axis, and passing through the intersecting point of the lines x + y = 2 and
y-X = 0 is)
® x=2 ® y=2 ©y=1 © x=1
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56. AT B-2e€E M FATea T@d 7L F92 (What is the number of degrees of freedom of a @
diatomic gas?)

® 1 ® 7 © 3 ® 5

57. 9Ff5 T SR SHNIEl (@S (FE faed T4 T OF QYSTER TA-78-3+3% #1478 g Fe A2 (If
the temperature of an ideal gas is doubled on the Kelvin scale, what will be the root-mean-square
velocity of its molecules compared to before?)

® 4 \2 © 2 ® 05

58. &5 S ST BI% AT 20A 0TE sifexfea Sl “faae 2@ (If pressure of an ideal gas is
increased, how will the kinetic energy of the gas change?)

D) ’ﬁ[ﬁ'ﬁ LAl 9ITE (increases compared to before) GRS ATF (remains same)

© "Iﬁﬁf e FN (decreases compared to before) ® =6 (unpredictable)

59. (o3 c%@ F = 3xzi + 2y - y2%k @37 (1,1,1) re TiEemuE® T2 (What is the divergence of a vector
field ¥ = 3xzi + 2x)j - J-’szi at the point (1,1,1)?)

® o ® 3 © 4 ® 7

60. G0 (AL G9e M O(EF A0Cd GAEE Wl AY 4N G0 T GUFd AATE ACd TeSd INS ¢ 20d? (What
is the moment of inertia of a rod of length L and mass M with respect to a perpendicular axis passing
through it?)

| | 1 2
® M’ SML? © jMmL? ® cm?

61. TEE OMC ©IF &'f% fRferre @M S5 qa “/[rF FA TW? (Transverse wave nature of light is examined
by which of the following phenomena?)

@® fawgaq (Dispersion) G7@eq (Diffraction) © ATFEA (Polarization) © far=id (Scattering)

62. G forea v FEEE WA Uy A Aufzs FHH SgeE wwe T T (For Fraunhofer ()

diffraction due to a single slit, if the slit width is decreased, the adjacent minima compared to before
will-)

® W B0 AT (move apart) T BT A (come closer)
© @S2 GBI AIF0E (remain at the same position)
© wFS FIE AR “ItF I6d Bl A (initially come closer and then move apart)

©

63 y7°c o feferm “@NIgF e T T3 @EFEIn &7, (ff =11, 38 10'3‘3”’1&'")? (The kinetic
energy of Helium atoms at 27°C will be [Boltzmann Constant, (ff =1.38 % 10"2/K '1)'?

@ 1.38 x 10723 /mol "1 8.31 x 10723 /mol -1 © 1.38 x 10721 /mol -1 ® 6.21 x 10°21/mel-1
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64. 1T AL F50F T @ AW SOWAR T @ F=ED 78F? (Which one of the following relationships

between r.m.s velocity and absolute temperature is correct?)

1|“

® C.r'.m.soc r Cr.m..swﬁ © C‘. 2T ® Crpms®

'\I

=

©

;
65. fofbames @4-Siam 12.5 T2 934e AT | @ ww e T FW MA? (The half life of Tritium is

4
12.5 years. To decay g parts of a piece of Tritium how much time is required?)

® 12.5 years 25 years © 37.5 years ® 50 years

66. Th3y — Pagy + X ~raefas fafaw x &2 (What is X in the nuclear reaction Thiy — Pagi’ +X ? ) ©

® cefoe 461 #1fbr@s (Negative beta particle) Af&34 (Positron) © TEEF (Electron) ©@ fN8EF (Neutron)

7. (1+k)xk =2

® 1 i CF ® k

68. 50 kg ©ldd G 954 4099 50 kg-m/s A @9 sfenfe F© 24?2 (A 50 kg body has a momentum of 50 @
kg-m/s. What is its kinetic energy? )

® 2500 ] ® 100] © 50] ® 25]

69. (6 PR (Feie 39 980 Nm-1) 10 cm FEbS F1 GF FRE 200 g U@ G0 T e T2 (=l
27A | FF SPTad fare T THem Sata? (A 200 g ball is thrown vertically upward by compressing a
spring (spring constant: 980 Nm-') by 10 cm. What will be the height reached by the ball?)

® 0.25 m 2.5 m © 255 m ® 51 m
70, BWe-4F »ATFS T - (The dimension of Young's modulus is-) ©
@ ML-2T-! ML -IT-1 © ML-IT-2 ® M-lL-IT-2
71. Amena would have studied engineering if she _____ to the university. @
® had been admitted could have admitted © was admitted ®© has been admitted
72. The best books are perhaps those that tell you ______ you already know. @
@ that how © which ® what
73. Choose the most appropriate synonym for the word "unforgettable".
® common memorable © ordinary ® typical
74. Choose the correct spelling. @
® playwrite brocoli © acquiesce © jewelery
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® in ® on © by

75. 1 had a good experience _ the first day at university.

76. Even though he at first opposed our proposal fiercely, he eventually gave

® on over © in

77. Barkat along with his friends invited to the party.

® have been was © had

78. Choose the correct sentence.

(®) Neither he is tall nor fat. Either is he tall or fat. (© He is tall nor fat.

79. Do you think there would be less conflict in the world if all the people ______
® spoke will speak © do speak
80. 1 look forward to _____ you anytime soon.
@) see seeing © have seen

81. "Life is a barren field" is an example of

@ a simile a metaphor © an alliteration

82. Twenty years the minimum age to fill in this form.

@) are is © have
83. Choose the most appropriate antonym for the word "modest".

® unhappy conceited © sullen

84. A large number of soldiers died for the country.

® has is © are
85. Choose the best antonym for the word "contemplate",

@) ignore retire © reflect

® of

©
® with
© were
©

(® He is neither tall nor fat.

the same language? @

® speaks

® be seeing

© an oxymoron

® has

© glum

©
® have

®

®© compete

86. 2ARBAF FAE KMnO,, 94l G4 Fara fat5a & ©e2d 282 (Which of the following is produced when ©

ethyne is oxidized with basic KMn0,?)

® 279e (Ethanol) 39[RIF GFTC (ethanoic acid) (© 3@ (Glyoxal)

e Pb(NO, ), @< A-sise 3 e

rac AN

@ 9 aibfe (Oxalic acid)

what is the color of the
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Bad niy

® @& (Violet) FWTE (Brown) © 79T (Green) ® 329 (Colorless)
g8. ftme @G wyETes witeas f&f@a 6732 (Which of the following gives aldol condensation reaction?) ©
® Methanol Chloral © Ethanal (® Benzaldehyde
89. &IPIZCE (I qard ALFaEe 2 (What type of hybridization is present in graphite?) @
® sp © ©
90. 10 g AT TR F2Y F22 (How many molecules are there in 10 g hydrogen?) @
® © ©
91. ftsa (IHbTS SIARTGS (132 (Which one of the following has no carbohydrate?) ©
®) =77 (potato) =l (Flour) © cEpEE (Cellulose) ® I (Wax)

92. Totha (1o =i S| @ivad 20e Fed (@9 gt @wsfd $7a? (Which one of the following gas shows
maximum deviation from ideal behavior?)

® © co ©)
93. “BIFAN 47 FH*E IEFIEE AGH (FRFLM AE (75 (06?2 (What is the probable set of quantum ©
numbers for the last electron of potassium?)
® © ©

94, DRAE BB FAC (54 (I AsiG T TW? (Which of the following compound is produced from
the nitration of toluene?)

@ Picric acid TNT © TNP (© Nitrobenzene
95; 71 g FIET TG FS qF Cl, FraT2? (How many moles of Cl, are there in 7.1 g of chlorine?) ©
® 1.0 mol 0.2 mol ®© 0.1 mol ® 0.4 mol
96. fTod (FI1G <% i*=@E ©9=? (Which of the following is liquid at room temperature?) ©
® © ©
97. 7tva (AL Helsewaa 23 @ivad a2 (Which one of the following behaves as a nucleophile?) @
® © ©
98. froe (@ w2967 pH-9= T AA®? (Which of the following solution have the highest value of pH?) ©
® 0.1 M Nacl 0.1 M HCl © ©

99. farse =G sofafes W ew*@ a2 (Which of the following shows geometric isomerism?)
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® © ©

100. (MG AZAE SBrEre “mig? (Which one is a primary standard substance?)
® © ®© NaOH

101, I O 8 g FAFE BIRG*TA TS fq*F F? (What is the suitable indicator for the titration of weak ©)

acid with weak base?)
® cFEeAfE (Phenolphthalein) ® 228 @E (Methyl red) © [27%# @t@% (Methyl orange) ©® FAG2 T (None)
102. ST 9% 7 ©

@ =iF #1f¥ (Heavy water) 0°C SI7I@R ¥ (Water at 0°C) © <
®

103. RS GIFPTCEE FNEE AeF @ (FM62 (Which of the following is the correct sequence of radius of
the elements below?)

® ©
©
104. 96 @ard H* S@cas gasi@l 10! moll ! 2 &% ®ared poH 92 (If the concentration of H* ion in a ®
solution is 10 molL™!, what is the pOH of the solution?)
® 10 4 © 6 © 14
105. fAtoe &=l Pl ofee farE®@? (Which one of the following is a weak electrolyte?) ©
® Hcl © ®
106. T™b& (T 797 7192 (Which one is not correct?) @
® © ©®
107, (@G @=fes Fem Af@adar 22?2 (Which one is the benzene ring activating group?) @
® © -CHO ® -cooH

108. 5% @ eifs FEE wnfsm 3= FA@? (Which of the following compound will form carbyl amine?) ©

® Phenol Tertiary amine © secondary amine ® tthyl amine

109. *IfFT® NaCl-a W& ©fTe BFE A0 FAME &F06 & 2?2 (Which one is deposited in the cathode when @
electricity is passed through molten NaCl?)

®) Na NaOH © ®
110. 25°C > e @ faee Te? o ®
e, UL . (What is the cell potential of the cell

At MEPF/,D Miarman P |
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db £ i \JIvell, Ll

)
® -12V 0.4V © 04V © 12V
111. (0 ATIR =2 (Which one is the thiol group?) ©
® -CNs © -sH ® -scN
112. 059 (Ai6E S&Aw @40 NH,SCN @19l S0 9% =1 99 (7)1 T@? (Which of the following aqueous ©
solution shows blood red colour due to the addition of NH,SCN?)
® © ©
113. & GAA (F0@ (FW6 AGS? (Which one is correct in case of a saturated solution?) @
® © ©
114. fs7 @@foa 28 @S FAS? (Which one has the highest electron affinity?)
® Oxygen Chlorine © sulfur ® Fluorine
115. 0o @@G @5 @pieg 772 (Which one of the following is not bent shape?) ©
® © ©
116. 77 TS DO-&7 MW F©7 (What is the DO-level in drinking water?) @
® 6.5-8.0 ppm 3.0-4.0 ppm © 60.0-95.0 ppm © > 120 ppm

117. 9059 (19 @ltsl St @ 724l 0?7 (In which of the following compound, the oxidation number of ©
iron is zero?)

® © ©
118. *ArFIAIGE FETS & @itE »ifaa Are [ F5a 2439 2% 91 AW? (Which of the following ©
compound reacts with water to produce ethyne?)
® a0 © ®
119. fAEGFET Foaf 7Y 7FE4? (How many isomers are possible for butanol?) ©
® 2 4 © 3 ® 5
120. “fTa TS FF7 (@6 &FA062 (Which one of the following is the bond angle of H,0 molecule?) @
® 109.5° 107.0° © 92.0° ® 104.5°
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